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| Choose the correct answer of the following :
h 1x7=7

waw fraaa o St A Sfed &
(i) A cell becomes turgid when placed in

(a) isotonic solution
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‘fb) hypertonic solution . Qonce Ty SRewOn De ¥R

. Aot Al (A3 %
(¢c) hypotonic solution
(fa) (®3§ L PO

(d) None of the above
(b) amtfaraiat

@ @5 wre @ e (I W W _
’ N (c) TEDWE oA

f@) R &S (d) tafem o
(b) TETHE TS \(?/Guttation takes place through
(o) TEHR WS (a) stomata
(d) ‘€°F] 9or8 T \fy/ ~ cuticle
” ¢)  hydathode
(@)- The water held tightly by the soil \/(')/ v
s : )
particles around them is known as (d) lenticel
(a) field capacity R foe wmt =
(b) runaway water ‘» (@
(by TTHL=
(c) hygroscopic water \/
Vs (c) &
y capillary water
(d) ;AT\
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(i) Krebs cvele tnkes place n c) Warburg
LN
{a) chloroplast ‘(fj) Blackman

(b) ribosome HEAIEH (84 o AlllA A4l wlgroie BeoAn o3

Afa wriner afafim
o] mitochondna

() a4 Az
(d) endoplasmic reticulum

(b) font
(@ 5 WIS B

(c) ararf

(@) TR

(b) ARG (d) (A

(c) Ee @ (vi) Abscisic acid causes
(d) THELFW wrfferat ‘ ﬁ\(fl} faster leaf fall

(v) The oxygen during photosynthesis _\\'_{b) dormancy of tubers

(/.// comes from water, was proved by
(c) retardation of growth

(d) All of the above
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e afged I

(@) GTR T ATE HA
(b) T¥E I

(c) fem g eI
(d) €T FIEAER

(viij) Non-protein part of enzyme is known
as

(a) holoenzyme

(b) apoenzyme

(e c"oenzyme

(d) All of the above

Tma w2 o HHhE (PRl =
(a) T GREIZA

(b) @A’ GTEE

() weeiza

(d) G FRLAAR
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Write short notes on the following : (any
Sfour) 2%4=8

wate fqutratad b3 (e e 3 (P sifasT)
(a) Plasmolysis

\(/b,) Role of stomata

L_(/CI/ ‘Chlorophylls
(d) Macronutrients

()~ Vernalization

""(f) Respiratory quotient

(@) oGS FLIOA
(b) ~iaSEs g
(c) ZR<H

(d) AT

(e) TETI

(f) R oS

Write short notes on the following: (any
three) 5x3=15

woTs RIS SAe ot ¢ (fRreray fefnn)
(a) Glycolysis

(b) /Mechanism of stomatal transpiration
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k(C’)

(d)
(e)
(a)
(b)
(c)
(d)
(e)

Photoperiodism
Riological nitrogen fixation
Gibberellins

BIES IEE

ogagE SCER BT

eRe wiEE e A
feacafem

4 Answer any three of the following

questions :

10x3=30

wee [t fofabr eR Tl 41 ¢

-

(b)

\VDescribe the mechanism of active and
P

assive absorption of water by roots.
5+5=10

faioia B Al AR S Wi o et
Zefal 241 |

What are essential elements in plant
nutrition ? Explain the role of any three
of them and show how their deficiency
affect the plant growth. 2+6+2=10
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(©)

@)
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Sfgwa Afim AfRe T (N w2 2
firarn fofim e sfum 2z 7N =
Pt affcn vfgwa gfae fawra el (A=
Bl 4] |

What is photosynthesis ? Give an
account on mechanism of CO, fixation
expressing major steps and the end
products in the process. 2+8=10
AR @7 co, AvEam ofFaa 32
SR S 3T Seafre zaz Borzien
TR @ft Gt wife @i

Describe Krebs cycle and explain the
functions of various enzymes taking
part in it. 7+3=10
(P b I T TR R eAfEETS S
74 fen TrmaR S A =40
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